FiAl  LRETRNGERT O PM OME:. 0 fes 0 K IR B_|ER

1. {20%) Integration by paris.
a) jseclxdx,, h) J-J;logxdx_

2. {20%) Find the Taylor series at 0 for each of the foliowing functions:

D f(x) = —

X =

, 2= b) f(x)=arcsin x

3, (20%) If F{x)=(sin x)/x for x = 0Oand F(O)=1 - fund
£ (0). Hint: Find the power scries for [

4. (20%) Provethat |z + wl' + |z — wlf = 2(|z|" + be[") > and interpret this

statement geometrically.

5. (20%)Let £ be the function shown below. Find J: £+ and afso the area of

the shaded region in the figure.
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